[ Efficiency vs vertpos |
- 05

20.45

1072 10 1 10 0?
TP vertr (cr%)

—s=— DQM_mkFit_baseline_lowPT

Effici B — DQM_mkFit:baseIineGiter_IowPT
ICIeNd __,__ DQM_mkFit_TT_RetrainV2_WP2_6iter_ep3_lowPT

~ 0.5
20.45

4
> 04
>
2
£0.35

0.3
0.25
0.2
0.15
0.1
0.05

ettici

Ratio

0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

N 0.5p
= E
YT SRSSRRR TRRNINE RO SO
S E
) 045— ____________________________________
Q0 35E | b
P E
© osf | i L
g F :
g F :
2o.2sff-Ji- :

0 2;—--—

0.15F .

0.1+ :

0.05F ;

k. A P i | . i i

2k T :
E E a o 5
x i : S

oosb b L L LELTELELLLLELL 5

éim. PV z (cm)



	Contents
	Page 1


